
3D Trigonometry & Pythagoras – Cuboid Problems 

1  
  𝐺𝐻 = 12𝑚
  𝐺𝐹 = 5𝑚
Angle  ∠𝐵𝐻𝐹 = 30°
Find the length . 𝐵𝐹

 

2  
 𝐺𝐻 = 12𝑚

  𝐺𝐹 = 5𝑚
  𝐵𝐹 = 6𝑚
Find the size of 
angle . ∠𝐵𝐻𝐹

 

3  

  𝐵𝐹 = 6𝑚
  𝐺𝐹 = 5𝑚
Angle 

 ∠𝐵𝐻𝐹 = 30°
Find the length 

. 𝐺𝐻
 

 

4  



  𝐵𝐻 = 18𝑚
  𝐺𝐻 = 12𝑚
Angle 

 ∠𝐵𝐻𝐹 = 40°
Find the length . 𝐺𝐹
 

 

 



5  
is the point such that  𝑀 

 𝐻𝑀 : 𝑀𝐺 = 1 : 3
  𝐺𝐻 = 12𝑚
  𝐺𝐹 = 5𝑚
Angle  ∠𝐵𝑀𝐹 = 40°
Find the length . 𝐵𝐹
 

 

6  
is the point such that  𝑀 

 𝐻𝑀 : 𝑀𝐺 = 3 : 7
  𝐺𝐻 = 12𝑚
  𝐺𝐹 = 5𝑚

  𝐵𝑀 = 11𝑚
Find the size of 
angle . ∠𝐵𝑀𝐹
 

 

7  
is the point such that  𝑀 

 𝐻𝑀 : 𝑀𝐺 = 2 : 5
  𝐵𝑀 = 13𝑚
  𝐺𝐻 = 14𝑚
  𝐵𝐹 = 5𝑚
Find angle  ∠𝐺𝑀𝐹
 

 

8  
  𝐴𝑀 = 13𝑚
  𝐺𝐹 = 3𝑚
  𝐵𝐹 = 6𝑚
Angle 

 ∠𝑀𝐹𝐺 = 50°
Angle 

 ∠𝐴𝑀𝐵 = 40°
Find the length  𝐴𝐵
 
 

HINT: 
 𝑐𝑜𝑠𝑖𝑛𝑒 𝑟𝑢𝑙𝑒

 𝑎2 = 𝑏2 + 𝑐2 − 2𝑏𝑐 𝐶𝑜𝑠 𝐴

 

 

 

1 2 3 4 5 6 7 8 
7.51 24.8 9.11 6.79 8.64 27.3 33.6 8.68 

|ANSWERS|



 

 


